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gm_mÝ` {ZX}e…

1. Bg àíZ-nÌ _| 13 àíZ h¢&

2. g^r àíZ A{Zdm ©̀ h¢& àË òH$ àíZ Ho$ g_j A§H$ A§{H$V {H$E JE h¢&

3. Bg àíZ-nÌ _| 2 A§H$m| Ho$ 5 àíZ, 3 A§H$m| Ho$ 5 àíZ VWm 5 A§H$m| Ho$ 3 àíZ h¢&

4. 2 A§H$m| dmbo àíZ bKw-CÎmar` àíZ h¢ VWm BZHo$ CÎma 30-50 eãXm| _| Xr{OE&

5. 3 A§H$m| dmbo àíZ bKw-CÎmar` àíZ h¢ VWm BZHo$ CÎma 50-80 eãXm| _| Xr{OE&

6. 5 A§H$m| dmbo àíZ XrK©-CÎmar` àíZ h¢ VWm BZHo$ CÎma 80-120 eãXm| _| Xr{OE&

7. àíZ-nÌ _| {H$gr ̂ r àH$ma H$m g_J« {dH$ën Zht h¡& hmbm§{H$, Hw$N> àíZm| _| Am§V[aH$ {dH$ën {XE JE h¢& narjmWu BZ
àíZm| _| go Ho$db EH$ àíZ H$m hr CÎma X|&

8. Bg àíZ-nÌ _| Ho$g/òmoV AmYm[aV àíZ ^r h¡&

1. "AZ¡pÀN>H$ ~oamoOJma l{_H$m| H$m Cn^moJ \$bZ dH«$ Am` Ho$ eyÝ` ñVa na ^r Y-Aj na

{H$gr YZmË_H$ ñVa go àma§̂  hmoVm h¡&'

{XE JE H$WZ H$s nw{ï> H$a|&

2. "ñdmñÏ` _mZd H$ë`mU H$m EH$ _mnXÊS> h¡&'

_mÝ` ì`m»`m Ûmam {XE JE H$WZ H$s nw{ï> H$a|&

3. (H$) ""EH$ AW©ì`dñWm _|, ñdm`Îm Cn^moJ  100 VWm gr_m§V Cn^moJ àd¥{Îm (MPC)

0.6 h¡& `{X g§VwbZ Am`  2,000 h¡ Vmo ñdm`Îm {Zdoe (I
0
) H$m _yë`  300

hmoJm&''

_mÝ` JUZm Ho$ AmYma na {XE JE H$WZ H$s nw{ï> H$a|&
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General Instructions :

1. This question paper contains 13 questions.

2. All questions are compulsory. Marks are indicated against each question.

3. This question paper contains 5 questions of 2 marks each, 5 questions of 3 marks each and

3 questions of 5 marks each.

4. 2 marks questions are short-answer type questions and are to be answered in 30-50 words.

5. 3 marks questions are also short-answer type questions and are to be answered in 50-80

words.

6. 5 marks questions are long-answer type questions and are to be answered in 80-120 words.

7. There is no overall choice in the question paper. However, internal choices have been provided

in few questions. The candidates need to attempt only one question from such questions.

8. This question paper contains Case/Source Based question also.

1. 'Consumption function curve of an involuntary unemployed workers start

from some positive level on Y-axis even at zero level of Income.'

Justify the given statement.

2. 'Health is a yardstick of human well-being.'

Justify the given statement with valid explanation.

3. (a) "In an economy, the autonomous consumption is  100 and Marginal

Propensity to Consume (MPC) is 0.6. If the equilibrium level of Income

is 2,000, then the autonomous investment is  300."

Justify the statement with valid calculation.

2

2

2



58/5/2 4

AWdm

(I) EH$ AW©ì`dñWm g§VwbZ _| h¡& {ZåZ{b{IV Am§H$‹S>m| Ûmam gr_m§V ~MV àd¥{Îm (MPS)

H$s JUZm H$a| …

(i) amḯ>r` Am` (Y) = 4,400

(ii) ñdm`Îm Cn^moJ (  ) = 1,000

(iii) {Zdoe ì`` (I) = 70

4. (H$) gmYZ bmJV d ~mµOma _yë` _| {d^oX H$a|&

AWdm

(I) gmYZ Am` d hñVm§VaU Am` _| A§Va ñnï> H$a|&

5. (H$) "am_ H$mo nyao {XZ _| _mÌ Xmo KÊQ>m| Ho$ {bE H$m_ {_bVm h¡& eof nyao {XZ dh H$m_

H$s Vbme H$aVm ahVm h¡&' Š`m dh ~oamoOJma h¡ ? am_ O¡gm ì`{º$ {H$g àH$ma

Ho$ H$m_ H$aVm h¡ ?

AWdm

(I) {ZåZ{b{IV OmZH$mar Ho$ AmYma na, amoOJma _| joÌdma Ho$ éPmZm| H$s VwbZm d
{díbofU H$a| …

amoOJma _| éPmZ (joÌdma)

joÌ 1999-2000 2011-12

àmW{_H$ joÌ 60.4 48.9

{ÛVr`H$ joÌ 15.8 24.3

V¥Vr`H$ joÌ 23.8 26.8

Hw$b `moJ 100 100

6. "AmYm[aH$ g§aMZm CËnmXZ _| d¥{Õ H$aVm h¡&' Š`m Amn gh_V h¢ ? ì`m»`m H$a|&

7. (H$) _mÝ` H$maU ~VmVo hþE, `h ì`m»`m H$a| {H$ Kaoby Am` H$s JUZm H$aVo hþE,

{ZåZ{b{IV H$mo {H$g àH$ma {b`m OmEJm …

(i) ^maV _| OmnmZr n ©̀Q>H$ Ûmam dñVw H«$` Ho$ {bE {H$`m J`m ŵJVmZ&

(ii) nwamZr dñVwAm| H$s {~H«$s na {H$gr {~Mm¡{bE H$m H$_reZ&

2

2
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OR

(b) An Economy is in equilibrium, calculate the Marginal Propensity to

Save (MPS) from the following :

(i) National Income (Y) = 4,400

(ii) Autonomous Consumption (  ) = 1,000

(iii) Investment Expenditure (I) = 70

4. (a) Distinguish between Factor Cost and Market Price.

OR

(b) Distinguish between Factor Income and Transfer Income.

5. (a) 'Ram is able to get work only for two hours in a day. Rest of the day,

he is looking for work.' Is he unemployed ? What kind of job could

person like Ram be doing ?

OR

(b) Compare and analyse the sector-wise trends in employment, based on

following information :

Trends in Employment (Sector-wise)

Sector 1999-2000 2011-12

Primary sector 60.4 48.9

Secondary sector 15.8 24.3

Tertiary sector 23.8 26.8

Total 100 100

6. 'Infrastructure facilities boost production.' Do you agree ? Explain.

7. (a) Giving valid reasons, explain how the following would be treated while

estimating domestic income ?

(i) Payment made by a Japanese tourist for goods purchased in India.

(ii) Broker's commission on the sale of second hand goods.

2
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AWdm

(I) ""`{X Am` H$m {dVaU Ag_mZ hmo Vmo, gH$b Kaoby CËnmX (GDP) H$ë`mU Ho$

gyMH$ Ho$ ê$n _| AnZm _hÎd Imo XoVm h¡&''

{XE JE H$WZ H$s _mÝ` H$maU Ûmam nw{ï> H$a|&

8. "ñdV§ÌVm gyMH$' (liberty indicator) H$mo EH$ CXmhaU H$s ghm`Vm go n[a^m{fV H$a|

VWm BgH$m _hÎd ~VmE§&

9. ""gaH$ma Zo Am`H$a ^wJVmZ Ho$ {bE Ny>Q> H$s gr_m  2 bmI go ~‹T>mH$a  2.5 bmI

H$a Xr h¡&''

`{X AW©ì`dñWm _| Aën _m§J H$s pñW{V àM{bV h¡ Vmo, gaH$ma Ho$ Bg H$X_ H$m Š`m

Aga hmoJm ?

10. ^maV d nm{H$ñVmZ Ûmam ñd-{dH$mg nW Ho$ {bE MwZr JB© {H$Ýht Xmo {dH$mg aUZr{V`m|

H$s g§jon _| ì`m»`m H$a|&

11. "{Zdoe JwUH$ d gr_m§V ~MV àd¥{Îm EH$-Xÿgao go AàË`j ê$n go g§~§{YV h¡&'

EH$ g§»`mË_H$ CXmhaU Ûmam ì`m»`m H$a|&

3

3

3

3

5



58/5/2 7 [P.T.O.

OR

(b) "Gross Domestic Product (GDP) as an indicator of welfare loses its

significance if the distribution of income turns unequal."

Justify the given statement with valid reason.

8. Define 'liberty indicator' with the help of an example and state its importance.

9. "The Government has raised the exemption limit for the payment of Income

tax from  2 lakh to  2.5 lakh."

If the situation of deficient demand is prevailing in the economy, what will

be the impact of this action taken by the Government ?

10. Briefly explain any two similar developmental strategies opted by India

and Pakistan for their respective developmental path.

11. 'Investment multiplier and Marginal Propensity to Save are indirectly related

to each other.'

Explain with the help of numerical example.

3
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12. (H$) (I) {ZåZ{b{IV Am§H$‹S>m| Ho$ AmYma na, àMmbZ A{Yeof H$s JUZm H$a| …

H«$. Ma am{e

g§. (  H$amo‹S> _|)

(i) am°̀ ëQ>r 10

(ii) {H$am`m 70

(iii) ã`mO 25

(iv) gmYZ bmJV na ewÕ Kaoby CËnmX 500

(v) bm^ 50

(vi) bm^m§e 20

(II) "ñWm`r {Zdoe' Am¡a "ñQ>m°H$ _| {Zdoe' _| A§Va ñnï> H$a|&

AWdm

(I) (I) {ZåZ{b{IV Am§H$‹S>m| Ho$ AmYma na H$_©Mm[a`m| Ho$ nm[al{_H$ H$s JUZm H$a| …

H«$.g§. Ma am{e

(  H$amo‹S> _|)

(i) d¥ÕmdñWm n|eZ 1,250

(ii) ZH$X _OXÿar d doVZ 49,500

(iii) H$_©Mm[a`m| H$mo {H$am`m _wº$ Ka 13,500

(iv) H$_©Mmar {Z{Y _| {Z`moº$mAm| H$m `moJXmZ 8,900

(v) H$_©Mm[a`m| Ûmam OrdZ ~r_m àr{_`_ H$m ŵJVmZ 3,000

(vi) H$_©Mmar {Z{Y _| H$_©Mm[a`m| H$m `moJXmZ 35,600

(II) dmñV{dH$ gH$b Kaoby CËnmX d _m¡{ÐH$ gH$b Kaoby CËnmX _| A§Va ñnï> H$a|&

3
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12. (a) (I) From the following data, calculate the value of operating surplus

:

S. Items Amount in

No. (  crore)

(i) Royalty 10

(ii) Rent 70

(iii) Interest 25

(iv) Net domestic product at factor cost 500

(v) Profit 50

(vi) Dividends 20

(II) Distinguish between 'Fixed Investment' and 'Inventory

Investment'.

OR

(b) (I) From the following data, calculate the value of compensation of

employees (COE) :

S.No. Items Amount in

(  crore)

(i) Old age pension 1,250

(ii) Wages and salaries in cash 49,500

(iii) Rent free accommodation to employees 13,500

(iv) Employer's contribution to provident 8,900

fund

(v) Payment of life insurance premium 3,000

by the employees

(vi) Contribution to provident fund by 35,600

employees

(II) Distinguish between Real Gross Domestic Product (GDP) and

Nominal Gross Domestic Product (GDP).

3
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Ho$g/òmoV AmYm[aV àíZ

13. {ZåZ{b{IV JÚm§e H$m Ü`mZnyd©H$ AÜ``Z H$a| VWm àíZ g§»`m 13(H$) d 13(I) Ho$

CÎma X| …

h[aV {Zdoe d gVV²Vm gmd©O{ZH$ Zr{V H$s àmW{_H$VmE§ h¢& ^maV Obdm ẁ n[adV©Z Ho$

_wÔo na EH$ AJ«Ur {díd ZoVm Ho$ ê$n _| C^am h¡& ^maV Zo ^{dî` hoVw g_mYmZ VbmeZo

H$m g§H$ën {b`m h¡&

gaH$mar `moOZmE§ d Zr{V`m±, O¡go- ñdÀN> ^maV {_eZ, àYmZ_§Ìr Amdmg `moOZm, ñ_mQ>©

{gQ>r, XrZX`mb CnmÜ`m` J«m_ Á`mo{V `moOZm Am{X, g^r gVV² {dH$mg Ho$ bú`m| H$mo àmá

H$aZo _| `moJXmZ H$aVr h¢&

gaH$ma Zo Am{W©H$ {dH$mg H$mo ~ZmE aIVo hþE gVV² {dH$mg, Obdm`w n[adV©Z, D$Om©

XjVm d dm`w àXÿfU go g§~§{YV Zr{V`m| d Cnm`m| H$mo Ama§^ d bmJy H$aZo _| AnZm

`moJXmZ {X`m h¡&

àYmZ_§Ìr CÁÁdbm `moOZm Zo ñdÀN> hdm _| g{H«$` `moJXmZ {X`m h¡& hmb hr _| Omar EH$

_o{S>H$b [anmoQ>© Ho$ AZwgma ídgZ g§~§{YV ~r_m[a`m| VWm _¥Ë`w _| H$_r AmB© h¡&

Ob OrdZ {_eZ H$mo Ob gwajm àmá H$aZo Ho$ CÔoí` go Ama§^ {H$`m J`m Wm& h_Zo {dJV²

60 dfm] _| OmZdam| d _N>{b`m| H$s {d{^Þ àOm{V`m| H$s Am~mXr Ho$ AmH$ma _| 68%

H$s {JamdQ> XoIr h¡& J«rZ hmCg J¡g d n¥Ïdr Ho$ Vmn_mZ _| d¥{Õ EH$ J§^ra d¡pídH$ {MÝVm

H$m {df` h¡& ^maV CZ Xoem| _| go EH$ h¡, Omo {H$ d¡pídH$ Vmn_mZ Ho$ 2o C go A{YH$

~‹T>Zo go à^m{dV hmoJm&

"^maV nhbo go hr, ZdmMma d XrK©H$mbrZ n`m©daU AZwHy$b CËnmXZ {d{Y`m| Ho$ {dH$mg

Ho$ {bE H$B© H$X_ CR>m MwH$m h¡&'

òmoV … X BH$Zm°{_H$ Q>mBåg; AŠQy>~a 27, 2021

(H$) ^maV _| gVV² {dH$mg àmá H$aZo _| gpå_{bV {H$Ýht Xmo H$X_m| H$m C„oI d ì`m»`m

H$ao§&

(I) {XE JE JÚ _| go H$moB© Xmo H$maH$ ~VmE§ {OÝhm|Zo n`m©daU H$s dhZ j_Vm

(carrying capacity) H$mo MwZm¡Vr Xr h¡&

3
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Case/Source Based question

13. Read the following text carefully and answer question number 13(a) and

13(b) given below :

Green investment and sustainability are priorities in public policy. India has

emerged as a global leader at the front of the climate change. India has

pledged to seek solutions for the future.

Government schemes and policies such as Swachh Bharat Mission, Pradhan

Mantri Awas Yojana, Smart Cities, Deen Dayal Upadhyay Gram Jyoti Yojana

among other, all contribute towards achieving sustainable development

goals.

The government has contributed to maintain economic growth by introducing

and implementing various policies and measures relating to sustainable

development, climate change, energy efficiency and air pollution.

Pradhan Mantri Ujjwala Yojana Scheme, has actively contributed to cleaner

air. It has resulted in drastic reduction of respiratory diseases and ultimately

death as per recent medical report.

The Jal Jeevan Mission was launched with the objective of achieving water

security. We have seen 68 per cent decline in the size of population of various

animal species and amphibian over the last 60 years. The issue of green

house gases and rising temperature of the earth are a global concern. India

is one of those countries that will be affected by the over 2 degree celsius

rise in global temperature.

'India has already taken a lot of steps in the area of innovation and

development of different production methodologies which are

environmentally friendly in the long run.'

Source : The Economic Times; Oct. 27, 2021

(a) State and discuss any two steps involved in attaining sustainable

development in India.

(b) From the given text, state any two factors which challenged the carrying

capacity of the environment.
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